Differential Equation - Class XII

Related Questions with Solutions

Questions

Quetion: 01

If y(¢) is a solution of (1 + t)cjl_z; —ty = 1and y(0) = —1, then y(1) is equal to
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Solutions

Solution: 01

The given differential equation is
@ — Ly = L which is a linear differential equation
dt 141 1+

LF. — o J it — o= [(1-pig)dt _ —(t=log(14+1)) _ —t . log(1+t) _ (14 t)e

e "1+ t)dt + C

s Solutionisy - e {1 +1) =
! ( ) (1+1)
= ye(l+t)=—e"+C

1 Cet

Given that y[0] = -1
#—1:—1T0:020

y:_—

y(1) = ——— =12

Correct Options

Answer:01
Correct Options: A



